07.02 Ilnarpopma

7.02

|
i
I
'|
|
|
I
i
|
'1




Ne B Ne o
HanmenoBanue [Ipumeuanue
PUCYHKE| KaTajory
003 | 2950250134 |ITaser 3anopa
004 | 2949160214 |Tsra 3aTBOpa NepeaHss
005 | 2949160224 |Tsra 3atBopa 3aHSs
006 | 3111105420 |laiiba 21 CSN 02 1702.1 MKS 720
007 | 2950510254 |T1pyxuHa
008 | 2976960114 |Ppruar 3aTBOpa JICBBIN
009 | 2976960104 [Peryar 3aTBOpa MpaBblit
010 | 3111121070 |Manen %(ZDOX 28 x 24 B 1SO 2341 - St MKS
012 | 3111111320 [ImumHT 3,2 x 20 1SO 1234 - St MKS 720
013 | 3111105440 |11aii0a 25 CSN 02 1702.1 MKS 720
014 | 3111111550 [InwmHT 6,3 x 40 ISO 1234 - St MKS 720
016 | 2948750054 |I[InuTta KperieHUs
017 | 3111108850 [[IIaiiba npy>kuHHAs 10 CSN 02 1741.0 MKS 720
018 | 3091113510 |bont M10 x 25 1SO 4017 - 5.8 MKS 720
019 | 2928260664 |Ynop 6opra
020 | 3111121030 [[Tamery 8 x 63 x 60 B ISO 2341 - St
021 | 3111105360 |11aiiba 8,4 CSN 02 1702.1 MKS 720
022 | 3111111230 [ImumHT 2 x 16 1SO 1234 - St MKS 720
025 | 3111100640 ["aiika M10 ISO 4032 - 5 MKS 720
026 | 3091144820 |bont M10 x 35 1SO 4014 - 8.8 MKS 720
027 | 2986701014 |YacTs 60pTa HIOKHSS
028 | 2950010474 [ITaner
029 | 2986760014 |[ToBopOTHBIN Majel MPY>KUHbI
030 | 2950680014 [JIucTt npy>XHHBI
031 | 2922010784 |Kpbliika npy>KUHBI
034 | 3091102480 [Boxr ;/IZ%)S X 1,5x 90 1SO 8765 - 5.8 MKS
035 | 3111100750 ["aiika M18 x 1,5 ISO 8673 - 5 MKS 720
036 | 3111102160 [I"aiika M18 x 1,5 ISO 8675 - 04 MKS 720
037 | 3091113150 |bont M6 x 16 ISO 4017 - 5.8 MKS 720
038 | 3111105350 |IIlaiiba 6,4 CSN 02 1702.15 MKS 720
039 | 3111108830 |Ilaitba nmpyxuHHas 6 CSN 02 1741.05 MKS 720
040 | 3111100590 [I"aiika M6 - 5 MKS 720 I1SO 4032
041 | 2986770224 |Ban ynpaBiieHUs
042 | 2948750064 |BepxHast yacTh XOMyTa
044 | 3111108850 [[IIaiiba npy>kuHHAs 10 CSN 02 1741.0 MKS 720
045 | 3091105920 |bont M10 x 45 1SO 4014 - 5.8 MKS 720
046 | 2948770354 Poruar ynpasieHus 3alHUM
6opTomM
047 | 2951010384 |Ponuk
048 | 3111120890 |MManen %gox 56 x 51 B I1SO 2341 - St MKS
049 | 3111105400 |II1aii0a 17 CSN 02 1702.1 MKS 720
050 | 3111111420 [ImumHT 4 x 32 1SO 1234 - St MKS 720
051 | 2950520104 [I1py>xuHa
052 | 2952410034 |BuHT yCcTaHOBOYHBIM
053 | 3111100670 ["aiika M12 I1SO 4032 - 5 MKS 720
054 | 3111102080 [I"aiika M12 1SO 4035 - 04 MKS 720




Ne B Ne o
HanmenoBanue [Ipumeuanue
pPUCYHKE| KaraJory
056 | 2986480284 Tdra ynpaiieHHs 3aIHUM
6opToM
057 | 3111120880 |MMaen %SOX 50 x 45 B ISO 2041 - St MKS
058 | 3113236160 |["atika mIst cTsKHOTO OOoJTa M16 CSN 02 1683.0
059 | 3111100720 |T"aiika M16 I1SO 4032 - 5 MKS 720
061 2950110284 |ITaser 3anopa HUKHUAN
062 2950110294 |ITanen 3amopa HUKHUAN
063 | 2969690034 |[KatadoT opaHkeBbIil
064 | 3091132780 |bonT camoHape3aromuii 3,9 x9,51S0 1481 - St MKS 720
065 | 2888490034 |Omopa
066 | 3111138000 |IManen 3(2)0)( 70x 62 B ISO 2341 - St MKS
067 | 3111105420 |I1laiiba 21 CSN 02 1702.1 MKS 720
068 | 3111111490 |InnuuT 5 x 32 1S0 1234 - St MKS 720
069 | 2886930034 [ITaser onopsl
070 | 2050952784 |I1laitba ycTaHOBOYHAS 2 mm
071 | 2050952794 |[11aiiba ycTaHOBOYHAs 5 mm
072 | 3111108850 |llaitba npyxuHHas 10 CSN 02 1741.0 MKS 720
073 | 2950310214 Brynka
075 |3111111400 |InnusT 4 x 25 1S0O 1234 - St MKS 720
076 | 2942300654 Koxyx nenu
077 | 2942300664 Koxyx nenu
078 | 2075061004 |Tpoc
079 | 2050010464 [ITanery
080 |3111111560 |IInnunT 8 x 50 1SO 1234 - St MKS 720
081 | 2954410094 |Ymop 6opra




	07.02 Платформа

